Vo
g WO UM JISIA

o1 pa.

6| moqah

g| 2)dind

.| abunio

yuid

umo.q

anjq

9
S
# u2a.1b
3
Z

4019

I|  amym

%209
SHIVNS
S133MS

s NV D 391

T377dnws0d Loz =

17 knon 133008 =
Nw......:wtﬂza &

T3 7 IN0 319NIS -
SWv3y 371

AN
010 3N

331400
Vil

Aoy burinojon uoppy staquinN wWnai) ad] PuD SIADA\ ‘PuDS

"aSN 03 S4N0]02 Y21YM N0 JJOM 0} SU01ID]NIDI UOIIPPD Y3 2A]0S




Ronald the Rhino

Subtraction up to 10 Colour by Number

Solve the calculations to work out which colours to use.

1, 2 = Grey 5 = Green 8,9, 10 = Pink
3, 4 = Brown 6, 7 = Blue
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Addition and Subtraction to 50
Colour by Number

Solve the calculations to work out what colours to use.

20-10 8+8 + 208 4+ 12¢10 ¥
ll(v {
1) 2l 1La (Y (B \) 1) A i
™ LA LA U] B ' | 7 L L LA
1 By ] B , 1
- :1')_ 4 - - -
21414 20+30 40-18 18414 1345 12+12 1747
2 N - -~ :: : ?x—
+ > w
Mt IFUNIOU I PN EFTNEEVER TETEIRVES SIS SR,
48-10 i 115429
35-13 F 25425 13428 3 14424 T 114181 2212
JL _.L - &

q" o -4 - -
—H— H—H
13,19:L; Q5 -1 -j:_ - o= = o + 9+7

' 32-8 30417 L 17+24 QL 2814 L
- 1; ‘{_‘ -4 - —
<+ —~ 4
4+ H— 1Y

18 . E 2313 3 5012 {4 - 3

o T 13416 T 37-13

D9+9 AE - < \ +

5+5 17+3 Rt 26-12 1543
5 +
4L5-2 i 8+14
5.
| 1246 18-2 40-30
- . :F

10 or 29 = yellow

12 or 32 = orange

14 or 35 = blue
16 or 38 = red

18 or 41 = purple
20 or 44 = black
22 or 47 = pink

24 or 50 = green
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Addition and Subtraction to 100

Colour by Number

Solve the calculations to work out what colours to use.

20 or 28 = yellow
30 or 37 = orange
40 or 42 = blue
50 or 53 = red
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60 or 69 = purple
70 or 75 = black
80 or 86 = pink
90 or 94 = green
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